Geography 34

1. Albany and Parkhurst are both prisons on which Uk island?
Isle of Wight

2. What bridge over the Thames leads to the royal botanic gardens?
Kew Bridge

3. Based on the definition of a desert as being an area that gets less than
10 inches of precipitation a year, what is the world’s largest desert?
Antarctica

4. | What is the only city in Buckinghamshire?
Milton Keynes

5. Which country has the most volcanoes - both active and dormant - in
the world?
USA

6. Which is the most populous continent by far?
Asia

7. Which London building consists of three identical arches and is situated
where the Mall leads to Trafalgar Square?
Admiralty Arch

8. What is the only continent that sits in all four hemispheres?
Africa

O. The Central Criminal Court of England and Wales is more usually known
as what because of the street that it stands on?
Old Bailey

10. |Russia is the largest country in Europe, but which is the second largest?




Ukraine




